00000 MOD00000000000 1991/4/17

010 ddboobooobon

10000400

1.100. 00000000 voboooooooboobooooooboooboo
00000000 vVvOoOoOOoOOoOoOoOoOoO GL(V)OOD0DMmoooooooooood
gboboboogobbboooobbobuoooobobooon

1.200. 0000000000 VOOOOO REVOoOopo cdmVopoooooo
O0000000000000000000000o0o0ooooooooooooo
O0000000000o0oo00000oooooooooooooog

1.300. 000 GO OO0O0DO0O HausdorffOOOODOOOOODOOOODO
000000000 VOOOOOO GL(V)OooOoOooooopd

G x V — Vi (g,0) — plg)v: OO

OO0000OD0p0 GO VODOODOOOOOVOpOOOODOOoooovoooooo
O00p0000000000000000D000000O0OOOOO (p,V)ODOOOO
O000VOOODODOO0ODODOD ¢geGUUOUOOp(g)0 VOOOOODODOOOOOO
gbouogbboobdtdpbbgbbooboodgbooobuodbtupgnoonon
gobooo

1.400. 000 G000 (p,V)0O (o,W)OOO0 VOO WOOOODODOOO 4
0000 geGOOOO Aop(g) =0(g)oADDDDDOD AD VOO WOO GO
D0000000VOD WODO GOOOOOO0O0O0O0Home(V,W)0000G0O0
000000000000000000 GOOO000000VOO Woo GOooo
00000000p0e000000000 (p,V)~(e,W)0000(p,V)0O (o, W)
000000000000 VOO WOoOOO0O0OGOoO0000000000,060
00000000000000000

1.500. (p,V)OOOOD GOOOOOOWDO VOOOOOODOODOOOOOoOoO
O0geGOOOOp(g)W CcWOODOOOOOD WOOOOoOoOoOOoooooooov
O{0}0 vOOOOOOOOOOO0OO0ooOoooooooo (pp,V)oooooOd
goobd

1.6 00 (Schur). (p,V)0O (¢,W)ODOO0O GOOOOOO0O0O000O0O0O0OVO
0 WOO GOO000000000 GOOO000000VOOOO000 I,0000
00000000000Homg(V,V)=Cl,0000

O00. A € Homg(V,W)OUOOOKerADImAODOOOD VO WOoOoooO
O00000000VO WoOoUOOUOKerA = V,ImA = {0} JO00KerA =
{0},IimA=WOOOOOOOOO ADo0ODODO GOOOODODOOOOOOOOO
O0000O0BeHomg(V,V)DOODODODODODODODO0OODODODDO0OOODOOOOBOV
000 100000000000000000Homg(V,V)=Cly0000
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1.70. (p,V)O (¢,W)DOUOODOD GUOOOOOODODOOOOOOOOOOODO

=0 (pV)# (o, W)
dim Homg(V,W)< =1 (p, V)~ (c,W),0000000
>1  (p,V)=(o,W),000000

00. 00 1.600 (p,V) % (6,W) 0000 Home(V,W) ={0}0000 (p,V) ~
(o,W) 0O O O0OdimHomg(V,W) > 1000000000000000 00000
0 A, B € Homg(V,W)0 20000 B~'oA € Homg(V,V)00OO0OOD0 1.600
A=¢B(ceC)000000000dimHomeg(V,W) =10

1.800. (p,V)ODOODDO GUOOOOO0O0OOODDOOOOODOOODOOO(,YOV
O0000000vVOOOOo 10000 A(,)O

h(p(g)v, p(g)w) = h(v,w)  (v,w € V)

000000000000000 0000 R(,)=c¢(,)0000
00.0000 A:V — VO

h(v,w) = (Av, w) (v,weV)

000000000 A0 0000000 A0ODO0OOoDOoOUoOOoOOoooooOon
0000doovooooooooooooo e0000 A=cy,000000000
h(,)=¢(,)0000

1.90. (p,V), (p1, Vi), (p2,V2) 0000 GOOOOOOOD0O0OgeGOOO0

(P (9)))(w) = flplg ")  (feViveV)
v2) = (p1(g9)v1) ® (p2(g9)v2)  (v1 € V1,02 € Va)
(p1(g)v1) ® (p2(g)v2) (v1 € Vi,v2 € V)

000p*, p1®pe, m®p.000000000 GOOOOODOOOOOOp", p1®p2,

p1@p00000 (p,V)00OO0OD00(p1, V1) 0 (p2,V2) 000D ODODOOODODO
00000WO0 V,000000000000Hom(V4,V,)0000geG0OO0

(ps(9)A)(v1) = p2(g) 0o Ao pr(g~")(v1) (A €Hom(Vy,Va),v1 € V1)

000ps00000 (p3,Hom(V4,V,)) 0 GOOO0OODO0O000O0000 (pf ®
p2, Vi ®V,) 000000000 140000 GO0O0O0O0O0000

Homg (V1,V2) = {A € Hom(V1, V2)|p3(9)A = A(g € G)}

0000000000(p,V), (b, Vi), (p2,V2) 0000000000000000O0
Op*, pp@pe, m@p.000000000000000



110 00. O 71.900 200000000000 000000000O00008
gdbooobootuoouootdooobooonooooootooouooooood
0000 (p1, V1), (p2,V2), (p3,V3) D000 ((p1 @ p2) ® p3, (Vi & V2) & V3) O
(P1®(p2Bps), Vi (Va®Vs)) D0 00000000000((p1®p2)®ps, (Vi®V2)QVs)
0 (1 ®(p2®p3),Vi®(Va®13)0000000000000000000000
gbduoououoooooooooooad

1.11 00. (p,v)0000 GO0O0000O (p;,V;) 0 GOO0OO0O0O00O0OO0 00
0000 4; € Homg(V;,,V)DDDDOO V/ =3,4,(/,) 000000000 V'O
vOoOooooooOovD (p,V;) 000000000000 V =&;,V,000000
O (p,V)DO (p;,V;) 0000000000000 400000 V/ =Y, A4,(V;)00
000000000000VO (p,V;)000000000000000000000
000000 V=a,V,0000 (p;,V;) 0000000000000000000
000

1.12 00. (p;,V;,) 0000 GO0OO0O000O0000000O000O0000000
000m;, n;0 00000000 m;V;0 V0 m00000000GO0OOO0O
0 (p,V)0 20000006mV;0@;nV;00000000:i0000 m; =n;0
00000

00. @m;V, =@®m;V;000 j0 1000000

Homg (V;, ®im;V;) = Homg(Vj, ®in; V)
gooooogooog

®;m; Homeg (V}, V;) = @in; Home (V;, V;)
0000 1.700 m; Homg(V;,V;) = nj Homg(V;,V;)000000 m; =n;0000

1.1300. bodoggobooboooouoobobbouoooobobooogn
gboboboooobboooooboon

O0. (p,V)ODODOO GOOODODODOODODODODDODDOdmVOOOOOOOOOO
O000dimV =10000 (p,V)ODOODODDODODOO0OOOOdimVOOOOOOOO
0 GO000000000000DOO0000000ooooooO(p,Vv)ooooo
0000000000000 (p,V)D0ODOO0ODODODOOODODOOOOOODOOO(p,V)
000000000 {0}00 vOoOooOoooOoooooooo woooooooo
O0(p,V)0DODODODDODO WOOOOODO wiooooooooooooooo
V=W+Wi000O0O00ODOOOOOO0O00OOO0 vooooooooooooaoa
goo
gooboooooobboooobobobuooooboobod

1.1400. 0000 20000000000000DOO0DOODOOODOOODOO
gooboooon

00. (p,V)O (¢,W)0000 GOOODOOO0000000000 1.1300 p0 o0
0000000000 (p;, V)0 (0, W;) 00 000000000000 1.12000
00040000 (p;,Vi) ~ (0, W;) 0000004, :V, — W;,0 GOOOOOOO
vV, ;00000000 (, ), (,)00000(, )0 40000000 43, );
0GO0D000000 V000000000000 1.800000000 0000

1

A*(,)i=c(,»000000000¢ 240000000 (p;,V;) O (05, W;) 0O
000000000000 (p,V)0 (e,W)000000000
0000000000000000000000000
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1.150. (p, V1) 0000 G,000000000 (pe,V2)0000 G,000000
00000 (g1,92) €G1 x G,0000

(P1©p2)(g1,92) (V1 ® v2) = (p1(g1)v1) @ (p2(g2)v2)  (v1 € Vi, v € V)

000p®p, 00000000 G xG,00000000000p;&pe0 p10 po00
000000000000 (e, W), (p2,Vo)000000000000000000
;®p,000000000000000

1.16 00. Gy, G,0O00O00000G, xG.0000000000000 (p,
0000 0000000000000 (p;,V;) 0000 (i = 1,2)0(p, V)
(m&pe, Vi ® Vo) 000000000 G,0000000000000 (p;,V))
000 (p®p2,Vi® V) 00000000000000000

V)
0
0

O0. (p,V)O Gy xG,0000000000000000ODO

p1(g1) = p(gr,e) (g1 € G1)

o000 G,b0bvoooooooop b oobvoooobooboo 11300
(;,V)D R0 0000000000000 V=, W,0000000

S={U|U:VO G0000000000,Homg,(W:,U) ={0}}

0000 vVvOODOODOOOOO0O W =) ,sU000000(g1,92) € GixG0000

p(g1,92) = p1(g1) o p(e, g2) = p(e, g2) © p1(g1)

O000p(e,g2):V — VO Gi0O0O00000OOU e SOO00O0O

p(91,92)U = p1(g1)(p(e, 92)U) = p(e, g2)U

0000p(e,g.)U0 G000 O0OO0O0O00O0O0O00OOp(e,g)ly : U —
p(91,92)U0 GO0 DO0OD0O0p(g1,92)U € SO0O0O00 WO Gy x G,000
00000000000p,000000 WOOOOOOW={0}00000000
0OwW,0 G000000 W,0000000V, =W00p,m0x#0000 VOOO
00000 (p,V4) 0 0000000000000 000OA,B € Hom(Vi,V)
0000 B*0 BOOOOOOOOOO (A,B) =tr(AB*) 0000 Hom(V;, V)OO
0000000G,0Hom(V4,V)0OO00 j,0

p2(g2)(A) = ple,g2) o A (g2 € G2, A € Hom(V1,V))

00000000 (2, Hom(V4,V) 00 O0000000000000000 W, =
Home, (V4,V) 0000 VeOHom(V4,V) 0 G,00000000000000 po0
50000 V,00000000 (p,V2)0 G,000000000000000VO
0 ,00000p, 0000000000 17000 %wOOOO G,0000000
n00000000

p:V1@Ve — Viv® Ar— A(v)
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000000009 000000¢0 (m®p2,Vi®@V)00 (p, V)OO G1 x G200
0000000W0 VO G,0000000 V%00 0000000000¢#000
000(p,V) 0000000 000000D0000

dim(V; ® Va) = dim(Vi)n = dim(V)
O000e0 Gy x G0 0000000000000 (p,Vo)DODODODODODODODOO

goo
O0000 (p, V)0 GOOOODODOODOOOOOOOO0O0OO

p1(g1) = (p1®p2)(g1,€) (g1 € G1)
0000 G,00000000000 (5,VieV,) 00000 VoV, = (dim(Va))Vi
oooowo Vi ® Vo0 {O}DDDD Gy x G, 000000000000 O00wDo

WioOoOo0D000O0000 1L13MO00 1120000000 400000 W = kW,
000000 Go0Home, (Vi,Vi® Vo) 00000 j,0

p2(92)(A) = p(e,g2) 0 A (92 € G2, A € Homg, (V1, V1 @ V3))

000000000004 : Vs — Home, (Vi, Vi ® Va) O
P(v2)(v1) = v1 ® vy (v1 € V1,09 € V)

00000000 G.00000000000Homg, (Vi, W) = kHome, (Vi, V1) O
Home, (Vi,Vi ®V2) 0 {0} 0000 G,0000000000000000000
=1 (Home, (Vi,W)) O V20 {0} 0000 G,0D0000000000000V,00
oooowvwoooooono 1,700

k = dim(Homg, (V1, W)) = dim(Homg, (V1, V1 ® V3)) = dim(V5)

000000000 W =V,0kI100 (n®p,Vi®V) 00000000000
0oooon



